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СА ЧАСА:
На три начина израчунај 
вредност производа ако су чиниоци бројеви. 2, 4 и 5.
На линијама упиши одговарајуће бројеве:
           10 · 5 · 2 = __ ∙2 ∙ 5                       9 ∙ 5 = 3 ∙ __ ∙ 5                        3 ∙ (__ ∙ __) = 12
           __ ∙ 7 ∙ 4 = 4 ∙ 3 ∙ 7                        4 ∙ __ ∙ 3 = 8 ∙ 3                        5 ∙ (__ ∙ __) = 45
Израчунај:
            (2 ∙ 3) ∙ 1 =                            2 ∙ (4 ∙ 3) =
            5 ∙ (4 ∙ 2) =                            (2 ∙ 5) ∙ 6 =
САМОСТАЛАН РАД
:
1.На линијама упиши одговарајуће бројеве:
6 · __ · 5 = 18 ·
 5             
(3 · __
 
) · 5 = 30     
    4 · 
( __· __ ) = 8
7 · 2 · 3 = 7 · 
__              
 5 · (
 
__ · 3) = 45
          9 · ( __ · __ ) = 36
10 · __ = 6 · 5 ·
 2          
  
__ · (2 · 2) = 32
          
( __ · __ ) · 2 = 18
 
   
)
